L=3m, Bara=55kr - 3wrT.

L=2,5m, Bara=45kr - 1.

| L=1,5m, 55kr-2wrT]

1,3M,23Kkr-2wwT. 0,8M,15kr-21w0T.

0,99Mm,18kr-11uT.
0,55m,10kr-11wT.

Onopwu nepexigHoi ranepel

N =1

T - — F+——="F1 T

L=3m, Bara=55kr - 3wrT.
L=3m, Bara=55kr - 3wT.
L=3m, Bara=55kr - 3wT.

L=3m, Bara=55kr - 1.

A

s

L=3M, Bara=55kr - 3pT.

L=3M, Bara=55kr - 3uT.
|

L=3m, Bara=55kr - 3{uT.

| L=1,5M, 55kr-2wT] |
g |

A

L=3m, Bara=55kr - 3wT.
L=3m, Bara=55kr - 3wrT.

L=3m, Bara=55kr - 3.

1,3M,23Kr-2LWT. 0,8M,15kr-2wWT.

A

L=2,5m, Bara=45kr - 1.

0,99Mm,18kr-1wT.
0,55m,10kr-1wwT.

A

N
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